
Cube

Net Area

3cm

3cm

3cm

3cm

3cm

3cm

9𝑐𝑚ଶ9𝑐𝑚ଶ

9𝑐𝑚ଶ

9𝑐𝑚ଶ

9𝑐𝑚ଶ

9𝑐𝑚ଶ

Area = 𝑙 × 𝑤
      A = 3 × 3                
      A = 9𝑐𝑚ଶ

𝑆𝐴 = 9𝑐𝑚ଶ + 9𝑐𝑚ଶ + 9𝑐𝑚ଶ + 9𝑐𝑚ଶ + 9𝑐𝑚ଶ + 9𝑐𝑚ଶ

𝑆𝐴 = 54𝑐𝑚ଶ

4cm

2cm
3cm

Rectangular Prism
Net Area

4cm

3cm

4cm

2cm

2cm

3cm

Base

Top

Front

Back

Side Side

Base

Area = 𝑙 × 𝑤
      A = 4 × 3                
      A = 12𝑐𝑚ଶ

Area = 𝑙 × 𝑤
      A = 2 × 4                
      A = 8𝑐𝑚ଶArea = 𝑙 × 𝑤

      A = 2 × 3                
      A = 6𝑐𝑚ଶ

12𝑐𝑚ଶ

8𝑐𝑚ଶ

6𝑐𝑚ଶ

12𝑐𝑚ଶ

8𝑐𝑚ଶ 6𝑐𝑚ଶ

𝑆𝐴 = 12𝑐𝑚ଶ + 12𝑐𝑚ଶ + 8𝑐𝑚ଶ + 8𝑐𝑚ଶ + 6𝑐𝑚ଶ + 6𝑐𝑚ଶ

𝑆𝐴 = 52𝑐𝑚ଶ

Notice: the top and bottom are the same, the front and back are the same, and both sides are the same.

3cm
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